SummerTest 6

1 2+9= O
2| 10= + 8 a
3 4+9+1= O
4 14-5= O
5| 7x10= U
6| 28+3= U
7 10+40+ 10 = O
8 + 92 =99 O
9 7x2= U
10| 90 - = 20 J
11 83-10-10= O
12| 8x5= O
13 49+ 40 = O
19 242 = O
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Summer Test 6 (continued)

15

29 + = 32

16

48 + 15 =

17

4x3 =

18

—-of 40 =

19

75— 47 =

=90+10

4 of 28 =

55+5=

+of 18 =

%of48=

— 46 = 26

J|0)0|0]|0]0]|0]0 g4 |o

How well did you do?

Colour the numbers of the
questions you got correct.
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[Total marks /25
J
1 213|167 13115116
10| N 19 | 25
519112117
: 14 20 22
Missing numbers 218101525
Fractions of amounts 182112324
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